
次の計算をしなさい。
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(1) −40 ×
3
5 +

5
8 (2) 18 ×

1
9 − 2

(3)
1
6 −

3
4 ÷

5
12

(4) 8 × (−77) + 8 × (−23)

(5) −24 × 82 + (−24) × 18 (6) 134 × 3.14 − 34 × 3.14

(7) (−7) × 98 (8) 101 × (−12) (9) 15 × (−99)

1
- 17

= - 40 ×

ナ2524
= 18 ×

1 -182
40 1 9 1

= - 49 = - 34

=

2 - 9

X

121
= 8 × (- 7ク - 23 )

12 1 5
=

8 × 1 - 100 )
= - 57 = - 800

= - 24 × 182 + 181 = 3 14 × ( 134 - 341
=
- 24 × 100 = 3

.
14 × 100

=
- 2400 = 314

= [- 7 ) × [100 - 2 ) = [ 100 + 1 ) × [ - 12 ) =
- 15 × [ 100 - 1 リ

= - 700 + 14 = 1200 - 12 =
- 1500 + 15

= - 686
= - 1212 =

- 1485


